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SPL Frequency Response

HX-5B/W (60degree-mode)
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HX-5B/W (30degree-mode)
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HX-5B/W (15degree-mode)
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Pair of HX-5B/W (60degree-mode X 2)

[dE]
10,

20 B0 100 50O 1k 3 10k 20k,
[He]
Frequency - SPL

———————————he@psir G0dermodaln 4d1 ( Dder)



Pair of HX-5B/W (45degree-mode X 2)
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HX-5B-WP/W-WP (60degree-mode)
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HX-5B-WP/W-WP (45degree-mode)
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HX-5B-WP/W-WP (30degree-mode)

[dE]

20k,
[He]

10,

20 B0 100 50O 1k 3 10k
Frequency - SPL

———————h:&wp_30dermode00td1 { Oder)

20k,
[He]



HX-5B-WP/W-WP (15degree-mode)
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Pair of HX-5B-WP/W-WP (30degree-mode X 2)
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Pair of HX-5B-WP/W-WP (15degree-mode X 2)
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If the FB-120B/W is installed on the wall/ceiling/floor, the SPL is 6dB plus.



Impedance Frequency Response
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FB-120B/W
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Polar Patterns

Vertical Plane

HX-5B/W/B-WP/W-WP (60degree-mode)
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HX-5B/W/B-WP/W-WP (45degree-mode)
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Horizontal Plane

HX-5B/W/B-WP/W-WP (60degree-mode)
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—h=5_1 Sdeemadal 4000He, 1/ 2 Average])
—h=5_1 5depmadal 31 50HE,1 /7 3Average)
hi: 1 Bdepmodel 2600HE,1 ./ 2 Averare)

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hf_1 Bdegmodel 8000HE, 1./ 3Awerage)
—h=5_1 Gdeemadel 6300HE,1 7 3Average)
hix5_1 Bdepmodel BO00HE, 1/ 2 Averare)

45



OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem
—h=5_1 Sdegmadal 16000Hz 1/ ZAwarage)

—h=5_1 5degmadal 1 2600Hz1 / 3Avarage)
hix 1 Bdepmodel 10000H,1 / 2Averams)

Pair of HX-5B/W/B-WP/W-WP (60degree-mode X 2)

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hBpair G0degmodel HO0He,1 /7 3 bwerage])
—h=Spair_60dermodel, 400Hz1 S 3 Average)
hxBpair G0dermadal 316He,1./ Zhverage]
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem

—h=Spair f0dermodel 1 000Hz, 1/ 3Avwerage)
—h=Spair_60dermodel S00Hz,1 S 3 Average)
heEpair G0depmadal 620He,1/ 2hverags]

OUTSICE = 10(dE]
IMNSICE =50(dE]

o)
=

SFL Polar Pattem
—hFpair G0degmodel 2000Hz, 1. 3 dverage]

—h=Spair_60dermodel 1600Hz,1 7 3 Average)
hxBpair G0dermadal 1 260H,1 7 2 Average])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem

—h=Spair f0dermodel 4000Hz, 1/ 3Average)
—h=Spair_60dermodel 3150Hz,1 7 3 Average)
hxEpair B0depmadal 2500HE 17 2 Aerage])

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hFpair_G0degmodel S000Hz, 1. 3 dwerage])
—h=Spair_60dermodel 6300Hz,1 7 3 Average)
hxBpair G0dermadal 5000HE1 7 2 Average])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem
—h=Spair f0dermodel 16000H,1 / 3Average)

—h=Spair_0dermodel 1 2500H,1 ¥ ZAverage)
hxEpair G0depmadal 1 0000HE 1/ 2avarage)

Pair of HX-5B/W/B-WP/W-WP (45degree-mode X 2)

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hBpair 45degmodel HO0He,1 /3 erage)
—h=Spair_45dermodel 400Hz1 S 3 Average)
hxBpair_45desmadal 316He,1.7 Zhverage]
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

N7

SFL Polar Pattem

—h=Spair_45dermodel 1 000Hz, 1/ 3Avwerage)
—h=Spair_45dermodel S00Hz,1 S 3 Average)
heEpair_45desmadal 620He,1/ 2hverage]

OUTSICE = 10(dE]

é gﬂl\\w

SFL Polar Pattem

—hFpair 45degmodel 2000Hz, 1. 3 dwerage)
—h=Spair_45desmodel 1600Hz,1 7 3 Average)
hxBpair_45dermadal 1 260H,1 7 2 Average])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem

—h=Spair_45dermodel 4000Hz, 1/ 3Average)
—h=Spair_45dermodel 3150Hz,1 7 3 Average)
hxEpair_45desmadal 2500H 1 7 2 Aerage])

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hFpair 45degmodel S000Hz, 1 3 dwverage]
—h=Spair_45dermodel 6300Hz,1 7 3 Average)
hxBpair_45dermadal 5000HE1 7 2 Average])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem
—h=Spair_45dermodel 16000H,1 / 3Average)

—h=Spair_45dermodel 1 2500H,1 ¢ ZAverage)
hxEpair_45depmadal 1 0000He 1/ 2avarage)

Pair of HX-5B/W/B-WP/W-WP (30degree-mode X 2)

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hBpair_30degmodel GO0He,1 /3 berage)
—h=Spair_30desmodel, 400Hz,1 S 3 Average)
hxBpair_30desmadal 316He,1.7 Zhverage]
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem

—h=Spair_30dermodel 1 000Hz, 1/ 3Avwerage)
—h=Spair_30dermodel, S00Hz,1 S 3 Average)
heEpair_20desmadal 620He,1/ 2hverage]

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hFpair_30degmodel 2000Hz, 1 3 dwerage])
—h=Spair_30desmodel 1600Hz,1 7 3 Average)
hxBpair_30dermadal 1 260H,1 7 2 Average])
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e OUTSICE = 10(dE]

%

SFL Polar Pattem

5

i

—h=Spair_30dermodel 4000Hz, 1/ 3Average)
—h=Spair_30dermodel 3150Hz,1 7 3 Average)
heGpair_d0desmadal 2500H 1 7 2 Awerage])

OUTSICE = 10(dE]
= IMEICE =—5C(dE]
K/ =

SFL Polar Pattem
—hFpair_30degmodel 2000Hz, 1. 3 dwerage)

—h=Spair_30dermodel 6300Hz,1 7 3 Average)
hxBpair_30dermadal 5000HE1 7 2 Average])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem
—h=Spair_30dermodel 16000H,1 / 3Average)

—h=Spair_30dermodel 1 2500H,1 ¢ ZAverage)
heEpair_20depmadal 1 0000He 1/ 2avarage)

Pair of HX-5B/W/B-WP/W-WP (15degree-mode X 2)

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hzfBpair_| Bdegmodel GO0He,1 /7 3 erage)
—h=Spair_1 Sdepmodel, 400Hz1 S 3 Average)
hxBpair 1 Gdegmadal 316He,1/ Zhverage])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem

—h=Spair | Sdepmodel 1 000Hz, 1/ ZAvwerage)
—h=Spair 1 Sdepmodel S00Hz,1 S 3 Average)
heEpair 1 Sdepmadal 620He,1/ 2hverage]

OUTSICE = 10(dE]
IMNSICE =50(dE]

SFL Polar Pattem

—hFpair_| Gdegmodel 2000Hz, 1 3 dwerage])
—h=Spair 1 Sdepmodel 1600Hz,1 7 3 Average)
hxBpair 1 Gdegmadal 1 260H,1 7 2 Average])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem

—h=Spair | Sdepmodel 4000Hz, 1/ 3Average)
—h=Spair 1 Sdepmodel 3150Hz,1 7 3 Average)
hxGpair 1 Sdepmadal 2500HE 17 2 Average])

e OUTSICE = 10(dE]

SFL Polar Pattem

—hzFpair_| Gdegmodel S000Hz, 1 3 dwerage])
—h=Spair_1 Sdepmodel 6300Hz,1 7 3 Average)
hxBpair 1 Sdegmadal 5000HE1 7 2 Average])
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OUTSICE = 10(dE]
IMNSICE =—50(dE]

SFL Polar Pattem

—h=Spair | Sdepmodel 16000H,1 / 3Average)
—h=Spair 1 Sdepmodel 1 2500H,1 ¢ ZAverage)
hxEpair | Sdegmadal 1 0000He 1/ 2dvarage)

Beam width

“Vertical”
A
< » “Horizontal”
HX-5
v

Note: The HX-5 series can be used vertically or horizontally.

Vertical Plane
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HX-5B/W/B-WP/W-WP (60degree-mode)

.
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—e—e
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Frequencey — Bamwidth

————— & G0dermode00 td1 (] £ Thwerage)

W/B-WP/W-WP (45degree-mode)

e
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400,
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100 600 1k Bk 10k 20k,
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HX-5B/W/B-WP/W-WP (30degree-mode)

N~

[Cex]
400,

—

100 600 1k Bk 10k 20k,

Frequencey — Bamwidth

——h:& _20dermode00 td1 (] £ Thwerage)
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HX-5B/W/B-WP/W-WP (15degree-mode)

[Cex]
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e

e
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——————————h:& 1 Sdermode00 td1 (] £ Thwerage)

1k
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HX-5B/W/B-WP/W-WP (60degree-mode X 2)
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Pair

e
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pair Bl 0410 7 3average)

Frequencey — Bamwidth

Pair of HX-5B/W/B-WP/W-WP (45degree-mode X 2)
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Pair of HX-5B/W/B-WP/W-WP (30degree-mode X 2)

[Cex]
400,

e

L™

\L.T'
. \Q\kr wi ’ -0 o

100 600 1k Bk 10k 20k,
[He]
Frequencey — Bamwidth

pair 30k 0410 7 3average)

Pair
HX-5B/W/B-WP/W-WP (15degree-mode X 2)

[Deel

W'_Q

L.

100 600 1k Bk 10k 20k,
[He]
Frequencey — Bamwidth

————————————h:&pair. | Sdegmoda901d10] £ Javerare)

Horizontal Plane

HX-5B/W/B-WP/W-WP (60degree-mode)

[Cex]
400,

——o o o [

; %‘\*\/H\F\ AN

100 600 1k Bk 10k 20k,
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Frequencey — Bamwidth

—————— & Gldermode00 td1 (] £ Thwerage)
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HX-5B/W/B-WP/W-WP (45degree-mode)

[Cex]
400,

e o T )

. ¢ m«

100 600 1k

Frequencey — Bamwidth

——————————h:& 45dermode0 td1 (] £ Tiwerage)

HX-5B/W/B-WP/W-WP (30degree-mode)
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—————————— & 1 Sdermode0 td1 (] £ Thwerage)
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Pair of HX-5B/W/B-WP/W-WP (60degree-mode X 2)

[Cex]
400,

——o o &_ [ ] [

Ly
. N ﬁ\\A

100 800 1k s - Beamits Bk 10k [Eg]&
———————————h:&pair S0demodelntd1 (1 / Javerase)
Pair of HX-5B/W/B-WP/W-WP (45degree-mode X 2)
. vy \ . o4
L = P —
&0 % \'/
! ?ED 800 1k s - Beamits Bk 10k [Eg]&
pait_45: OO0 £ Baorerame)
Pair of HX-5B/W/B-WP/W-WP (30degree-mode X 2)
[Dee]
‘mm [
o—2 )’.\
0 \'/ k\ e /\ y )
% i,
100 800 1k Bk 10k [Eg]&

Frequencey — Bamwidth

———————————h:&pair_30degmodal0d1 ]/ Javerare)
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Pair of HX-5B/W/B-WP/W-WP (15degree-mode X 2)

[Cex]
400,

——o o &

) R SR o SN

600 1k

20k,
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Frequencey — Bamwidth

pair.| OO (1 £ Fdoreraze)

Q

HX-5B/W/B-WP/W-WP (60degree-mode)

w I SN I
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100 500 1k

(1.3
[Hel
Frequency - &
———— @ G0desmoded0id] {1 4 FAueraze)
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HX-5B/W/B-WP/W-WP (45degree-mode)

e
10 4/./ \ ¥ 3 / :
_‘Ja_ﬁ & 3
5 — i
o9 T/./
100 800 1k N Bk 10k [ﬁg‘]&
———h5 _d5dermode0 41 (1 £ JaweraEe)
HX-5B/W/B-WP/W-WP (30degree-mode)
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/'/ B //
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10 5 f"A—H ® :
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) o T/./
100 800 1k N Bk 10k [ﬁg‘]&
——hu6 20deEmode0 4101 £ JAweraEe)
HX-5B/W/B-WP/W-WP (15degree-mode)
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100 800 1k Bk 10k [ﬁg‘]&
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Pair of HX-5B/W/B-WP/W-WP (60degree-mode X 2)

. 2 A
o *—o—¢
. Fa—— e 3 L. 8 ~
B sendil L S
o ® N/
100 800 1k N Bk 10k [ﬁg‘]&
———————————h:Epair f0degmode00 td1 (1 Jaerage)
Pair of HX-5B/W/B-WP/W-WP (45degree-mode X 2)
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Pair of HX-5B/W/B-WP/W-WP (30degree-mode X 2)
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Pair of HX-5B/W/B-WP/W-WP (15degree-mode X 2)

&0 I._\_\_ g
> i
10 !
5 r‘,
1I o 600 1k N Bk 10k [ﬁg‘]&
al 04101 S Dawerame)
EQ Recommendation
For HX-5B/W/B-WP/W-WP
Filter Frequency Gain Q
HPF (12dB/oct) 60Hz - 2.053
PEQ 65Hz +2dB 1.414
PEQ 800Hz -3dB 0.7
PEQ 2.5kHz -4dB 2.997
PEQ 5kHz +5dB 0.305
[dE]

— M4 21— ) S0dermoda00 td] (WOLT AGES)
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HX-5B/W (60degree-mode) with EQ
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[dE]

HX-5B/W (15degree-mode) with EQ
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Pair of HX-5B/W (30degree-mode X 2) with EQ
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HX-5B-WP/W-WP (60degree-mode) with EQ
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HX-5B-WP/W-WP (45degree-mode) with EQ
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Pair of HX-5B-WP/W-WP (60degree-mode X 2) with EQ
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Pair of HX-5B-WP/W-WP (15degree-mode X 2) with EQ

[dE]
10,

20 B0 100 50O 1k 3 10k 20k,
[He]

wppairl 00410 Oder)

For HX-5B/W/B-WP/W-WP (low cut) and FB-120

For HX-5B/W/B-WP/W-WP

Filter Frequency Gain Q
HPF BW (24dB/oct) | 90Hz - -
PEQ 800Hz -3dB 0.7
PEQ 2.5kHz -4dB 2.997
PEQ 5kHz +5dB 0.305
For FB-120B/W

Filter Frequency Q

HPF (12dB/oct) 40Hz 2.053

LPF BW (24dB/oct) 100Hz -

Note: When using the processor with HX-5 and FB-120, ensure that the wiring polarity of both units is

the same. The level balance shown below is just reference. It should be adjusted.
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HX-5B/W (60degree-mode) with EQ and FB-120 with EQ (full space)
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HX-5B/W (30degree-mode) with EQ and FB-120 with EQ (full space)
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HX-5B/W (15degree-mode) with EQ and FB-120 with EQ (full space)
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Pair of HX-5B/W (60degree-mode X 2) with EQ and FB-120 with EQ (full space)
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Pair of HX-5B/W (30degree-mode X 2) with EQ and FB-120 with EQ (full space)
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Pair of HX-5B/W (15degree-mode X 2) with EQ and FB-120 with EQ (full space)
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HX-5B-WP/W-WP (60degree-mode) with EQ and FB-120 with EQ (full space)
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HX-5B-WP/W-WP (45degree-mode) with EQ and FB-120 with EQ (full space)
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HX-5B-WP/W-WP (30degree-mode) with EQ and FB-120 with EQ (full space)
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HX-5B-WP/W-WP (15degree-mode) with EQ and FB-120 with EQ (full space)
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Pair of HX-5B-WP/W-WP (60degree-mode X 2) with EQ and FB-120 with EQ (full space)
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Pair of HX-5B-WP/W-WP (45degree-mode X 2) with EQ and FB-120 with EQ (full space)
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Pair of HX-5B-WP/W-WP (30degree-mode X 2) with EQ and FB-120 with EQ (full space)
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Pair of HX-5B-WP/W-WP (15degree-mode X 2) with EQ and FB-120 with EQ (full space)
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